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@ The influence of having previously
practiced skill on the learning of

new skill Is called :

(1) Transfer of learning
(2) Bilateral transfer
(3) Negative transfer
(4) Zero transfer
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is called ¢
(1) Critical thinking
(2) Metacognition
(3) Self-regulation
(4) Problem solving
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Deductive thinking refers to
thinking in which :
(1) Generalises the information
(2) The individual goes beyond the
present information .
(3) An inference or conclusion is
derived logically from
information on hand .
(4) Judges the suitability or
appropriateness of an idea
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Identify the type of memory that
deals with the general world ¢
knowledge that are accumulated by
the individuals throughout their
lives, like facts, ideas, meaning and
concepts :

(1) Long-term memory

(2) Sensory Emioa. .

{3) Semantic memory

(4) Short-term memory
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According to Bruner, young
children learn mainly in the :

(1) Proactive mode

(2) Symbolic mode

(3) Iconic mode

(4) Enactive mode
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Learner-centred teaching means

that :

(1) Learners know little and
teaching involves transmission
of facts to them

(2) Learners are considered
passive recipients and teacher
has the right knowledge

(3) Learners are slow in learning
and teacher stresses completion
of syllabus

(4) Learners are given an
opportunity to construct
knowledge and teacher is a
guide in the learning process
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@ ‘Introspection method’ was :Wm&
mainly by -
(1) Pragmatism
(2) Functionalism
(3) Structuralism

4) Behaviourism
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@ With one of the following law, the
more times a stimulus induced
response is repeated the longer it
will be retained :

(1) Law of repetition

(2) Law of effect

(3) Law of readiness

(4) Law of exercise

ad03 (DTS (93D)osS
JHYIFH HITH)EDE & (80b
DoSoBadnE® &S stoo Jog
GoSadéod.

(1) HdoedyS Vodhdoo

(2) $O8 dahdoo

3) dovge Qoo

45, g Daso
TET-111-EM/TM

Booklet Code @

@ A procedure that establishes a

sequence of responses which lead to
a reward following the final
response and then working
backwards is called :

(1) Stimulus generalisation

(2) Shaping

(3) Stimulus control

(4) Chaining
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Generalisation is a reaction to :
(1) Association

(2) Pairing

(3) Similarities

(4) Differences
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29. In Pavlov’s classical conditioning
experiment, »rm, conditioned
stimulus was : ,

(1) Footsteps

(2)n Bell

(3) Food

(4) Saliva
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0. Psychologist Albert Bandura has

developed the theory of :
(1) Insightful learning
(2) Operant conditioning
(3) Classical conditioning
(4) Observation learning
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Part-II : Telugu (Language-I)
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63. I am annoyed ......... him ....... what
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Part III : English wa“:mwm.mc

61/ Find out the part of the sentence

that has an error :

In summer / days are / warm than/
(A) (B) ©

nights. .

D)

1) (D}

@) (B
(4 (C)
62. He insisted on he was innocent.

To improve the sentence, the
underlined part has to be replaced ,
by :

(1), insisted what

(2) insisted on that
@\“Hmmga that -

(4) insisted upon that

he has done to us.

Choose the correct answer to
complete the sentence :

(1) for, with
(3)» for, from

Rﬁmﬁu. for
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64. The expression.‘to turn over a new

leaf means :
(1) To nm.wm a decision

(2) To read something carefully

(3) To be cautious

& change one’s behaviour for

the better
Identify the word that has correct

stress :

(1) volatile

2) m lomacy

&uom tunity

4) vwc.onw—

With the word ‘the, ‘earth’, is and
‘round, we can make a statement —
The earth is round’ and a question
— TIs the earth round’ ?

The property of language

| \Mvﬁcumm here is -
) duality of structure

(2) « Wﬂﬁvwﬁﬂﬁgmmm
(3) creativity

4) culture transmission
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75. The function of the core is to :

Sif 71. The advantage of the optical fiber,

@@

‘T like apples, but they don’t like
me.” The figure of speech used in

the eypression is :
A&.\Eww.mosmmomnmo:

(2) metaphor

(3) oxymoron

(4) euphemism

We eat so that we may live.:
The syntactic device used here is :
(1)« Relativisation

(2) Coordination

hw\v\mcvo_.&:m.nmon

(4) Complementation -

71-75. Read the following passage :
An optical fiber system consists of
three basic parts transmitting
equipment that transforms electric
signals into light pulses, the optical
fiber itself, and receiving gear that
acts as a light detector. The fiber is
a very thin strand of pure glass
usually made of silicon or other
materials such as germanium. The
glass strand has two parts : a light
transmitting core and a special
glass coating that keeps the light
from straying. The fiber, of which
there are several types suited for
different kinds of tasks, is merely
the medium through which the
light flows. An average cable
consists of about 75 fibres.

The light impulses are generated

according to the passage, is :

(1) It is less expensive than

traditional cables

(2) It is durable than copper

bles
Q\uow transmits

quickly
(4)« Signals which travel through i
do not need boosting
72. . The glass coating on- the strand :

»%S\Nmmvm the impulses from

escaping
(2) Detects signals
(3) « Transmits signals
(4) Holds the bundles firmly
73. LEDs are better than lasers in case :

information

o

aﬂm:man signals

(2) » Detect signals
(3) Create mn.m&mﬁ

(4) Transform signals

(76-80) :

The following passage has five
numbered blanks. For each blank,
four alternatives are given. Identify
the correct option for each blank :
When you plant a tree, you are

helping your environment (76)......

69. The General Service List of English either by laser or light emitting (1) Reliability is more important many ways. Your tree will provide
words (GSL) is associated with : diodes, LEDs. If the signals have to v mumb expenditure a home and food for (77).....
i diture matters -
t thod travel far, they may be boosted at Xpen " . . . .
(1) Grammar translation me certain points. Lasers are better for . (3)+ Signals need to travel a long .n_.mm ures. It will hold (78)....... soil
\ANV.\Q.. West’s new method long distances as their. signals way in place. It will provide (79)...... -
] i t th ced for X .
(3) Direct methed wﬂm% anhwbw sﬁﬂrwcmcmmmwm less % Mc Copper cable is not available the summer. You can watch it grow
e . . From the text, it
(4)  Bilingual method . expensive and more nm__mw_m. that - N it can be understood and some day, after some years,
1 11, - A
70. The process of determining the Research is focused o:.anmw. rw \A\:\Ecm ) ) v iBow  yolie e ,
: p better and less expensive lig r optics will become Seri, -isvin

changes in behaviour through

sources. In that case, the prices ..um
lasers and LEDs will decline. 1t is

affordable and widely used
(2) Copper cable will replace fiber

grandchildren, the tree you (80)

instruction is. : believed that in no time the no%anA optics 76. (1) on
i i laced by fiber
(), e mation nmc._mm acmg_ cmwhhwnmmw mwmwmn deal @ .womr copper cable and fiber (2) for
@) asurement optics as they ikl optics will be used
of informiaboR YL 2 e 4) The £ (3) before
Assessment Now, answer the following questions i %wm. of lasers and LEDs
Test choosing the right option : will decline A
(4) Tes : TET-111-EM/TY i
TET-111-EM/TM 14 .
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7. (1) some another

(2), another
A@\cpro—.

(4), any other
(1) an

(2) Ahe

3) a

78.

(4) some

79. (1). shade

A\Nv\ shadow
Q twilight
(4) glimmer .
80. (1), will be planted
(2)» will plant
\&Qv\v_ma»mm
(4) plant |
81. Who vmm:nmm\ ..».Em. ? — this can be

undersgood as : ;
(" Who was it painted by ?
(2), Whom «qmm it painted ?

(3) By whom it was painted ?

(4) Who was it painted ?

TET-111-EM/TM 16

82.

83.

84.

Booklet Code @

‘Shall T ever see her again ? he
wondered. This sentence can be
reported as :

M&m wondered if he would ever

see her again

(2), He wondered if he will ever
see her again

(3) He wondered if he would ever
seen her again

(4) He wondered if he would see

her again ever.
Very few Indian kings were as
great as Ashoka.’ This sentence can
be understood as : ’
(1)» No other Indian king was as
great as Ashoka
(2) Ashoka was the greatest
Indian king
(3) Ashoka was greater than any
other Indian king’
(4)”Ashoka was greater than most
other Indian kings
There’s
complaining. They won’t do
anything about it.

Chooge the correct answer :

use in

(2) a few
(3) few
(4) va little

mm. Ramesh has two brothers, but he

87.

"~(4), either ,~

doesn’t speak to .......cc..... of them.
Choose the correct answer :

(1) neither

¢ @v\wc;

(3) any

What ........... was in the.box ?

Choose the correct answer to
complete the sentence :

(1) you had thought

@\QE you think that

(3). did you ngs.f

(4) you did think

<<m haven’t got .............. left.
Choose the correct answer :
(1) the butter

(2) a butter

(3): some butter

(&any butter

‘TET-111-EM/TM

Booklet Code @
to find that the-

Choose the correct answer to

*  complete the sentence :

\&\m:wvlmmn. m:.mvnmb_.:w.

(2)- surprised, frightened

Sedllieu witl udinScse

(3) surprising, frightening

(4) surprising, frightened
'89. No one believed him at first, but
to be correct.
Choose the correct answer :
< (1) turned out .
(2) worked out G |
(3). came out
@~ found out
90. Choose the correct sentence :
(1) Had I seen with my eyes, I
would have not believed it.
(2) Had I not seen this with my
Q\vﬁmm. I would have believe “it.
. Had I not seen this with my
eyes, 1 would not have
believed it.
(4)« Had T not seen this with my eyes
I would have not believed it.

17
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Part IV(@) : Mathemagics .

@. A.wu.vlw.x 35 x 39 x (64)*® x Am\me =
1) 275 x 3-2
(2) 3718 4 95 , 32

A..WV wum 5 x ww

@2 1t x+2=3,

then the value of

un.fTuwP is

H+Wuw ®wond Ha+&%¢ Ucuuu.
v 47 . -7

(2),9 Sy = 65

3) 49 |

4) 81

93. 25x2 + 9y% — 30xy =
k\s%an w%m.
(2) (5x + 3y) (5x — 3y)
(8) (3x + 5y) (3x — 5y)
4) 6z + 3

TET-111-EM/TM

) R

K5 ‘
AL

Content !

94. If 5,600 amounts to ¥ 7,560 in

4 years, then the rate of interest

Per annum is :

& 5,600 eden 4 Soddyoros®
¢r. 7,560 BnSom $r6T
Q0VEYoIE 5§ Tew

1) 8%

Mww.\mw\&

3) mW@

@ 85%

In a test of 25 questions, (+4) marks
" are given for every correct answer
and (-2) marks are given for
incorrect answer. Laxmi attempts
all questions and gets a score of 76,
then the number of correct answers
attempted by her is :
28 HOES® 25 (D oo adgwdI,
(B8 JT/S z=arend (+4). QUN_.CU.
Edyp zTEH Alww\&%&uwcu
Serawoddo 20A%B. ©§) ©Jy
. (BH)od =T c.wo_ 76 Srdpen
20808, wand ©f) o°VIBTD
2T D I3

®

(1)x 21¢ R
(2)= 20
3)- 22 d

4) 23

18

2
s
e

()e®

&

and H.C.F. of two numbers is 133.
If the L.C.M. is 20 times the HCF

and one of the number is 35, then

the other number is :

Fa, 1

Q) 25

@) 42 \W%\ ety .“A.ﬁwﬂ..
.&P 28 Q/\U&\
4), 40

Bodo .vo“.c%c Er.M. S08a50
£5 So8g Po 133. £.3mi0.
#3578 20 Bew H0ckw TSt

¥ Uo&% 35 wand Tosd Mom.cm.

.Smm. number of prime numbers 1 to
100 is : |

1 %0d& 100 DEH uﬂ&mmc (LSl
vo%mc Uoﬁm

1 23

@

3) wﬁ.

4) 20

TET-111-EM/TM

L, dh2y
Y=

,m. The difference between the L.C.M. e

7
3 ).u Booklet Code @

1 of a tower is coloured green,
10

1

Mmm is coloured white, 30

coloured red and the rest is

coloured blue. If the length of the

blue portion is 14 m 70 cm, then

the length of the tower is (in
meters) :

is

F% o &HBS Sord,

&S6 [sseEy 10

%u 2o Send)TSord, %V.U o
QDY Botb HH8as» s 2o Deo
Both 3. deo 2o 14 5 .70
0. PEL) wand, &S5 FEDH
(Do8ee) .
800

(2) 180

Q 8
©(4) 1.8

99. 47-
40

9 W

4

g
2 ) :4%&%

43

P—

90
43

_

: 99

(6 ))]

2

)

-
C

C
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100. Roju &nd Ramu won lottory and
agreed to share in the ratio of
30 41 Ramu received X 780 as his
share, then the total amount they
won is :
o 0dh onlw orddd RO
S00 0500 3 4 Qda y3uf
DOWE BIVE wohEboorty, oode
et oo, 780 rodd o8>
Teorodd ov®d 4MEWO A

(1) % 600

\M«,wwuv\«awéo 5“\\6

« ¥ 1365

(4) T 585
101. If the cost price of 10 articles is
equal to the mm::_m/ price  of 8
articles, then the gain M:. loss
percent is : .
(1) 20% loss
(2) 25% loss
(8) 20% gain
(4) 25% gain
10 $%Ho pddH Jo 8 I
o308 Todh DIHrIsw wond
orFdn Tor Spdn TSI
() 20% %o o3
(2)a 25% S0
3) 20% orFo

\A&.\N,m@w oo

TET-111-EM/TM
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"102. The ratio of the perimeters of two
squares is 1 ¢ 2, then the ratip of
the arcas of that two squares ig :
Toth UHGYo D Fodo dayd
1:2 oond o Tod IHERro

Srorgo AN |

1) 4:1 _

@ 1:2 .

3) 1

1 4

105. When measurements of two
diagonals are given, then the

quadrilateral that can be
constructed is :
(1) Rhombus
(2) Rectangle
(3) Parallelogram
(4) Trapezium
Bod Eogro Fodw adIHd
Mwmwxvﬁmc &&ogbno
, 0020
@) B8 S0
3) Brosy WHhdyzo
4 ([Bd=2c%o .
@H;m adjacent angles of a

parallelogram are x° and (2¢ + 30)°,
then the greatest angle of the
parallelogram is :

DIrod8 WSdyz=o Ty (D
(D) &3y Saren x° Bo08»
(2x + 30)° ©®0208 DISrogd
Sddyzo TE), ©hE Fwmo

Emaa
\%w\mpo Nv.vbuvm&
130° Y
4)e70°
107. Choose a shape having unlimited
number of lines of symmetry :
(1) Circle
(2) Square -
(3) Isosceles triangle
(4) Rectangle
©HOAS Dowes® LY TBoew
A~ us* o ° .
L&.\uw\mue
@ B Hvo
3) Qodg i

rmwmuu.w..o
@) 88 Sg|xo
% Y

103. The angles of a triangle are (2x)°,
\' (3% + 5)° and (4x — 14)°, then the
""" smallest angle of the triangle is :
28 (Bzbzo Ww¥) Seres (),
L (3x +75)° %00a5 (4x — 14)° eand
v (Bzhzo T 0% 'm0 iy
1) 7¢° 55
@ 21° sa-T=W
@ra2 Noﬁﬁ&
(4) 68° Yn_—
@H:m angle which is 36° more than
its complement is :
2 D8 Hro¥ S'wmo 0B 36°
wdfom Ho §wo - .
&
(2»736°
ST
3 27 \/»Wﬁ ’
— (-
4) 72° 2\ 3
]
s
o O

TET-111-EM/TM
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6 Mean of ten observations is 38. If
one observation 56 is excluded,

then the new mean is :
b8 ovbo Difew 38, &S ¥
o3 56 O Sonodsgond 54

B5&

(0, 35 MW@\ W&
@ 38 1% 7
3) 37 B 2

k&%

109. Choose the N.:nc\wmnn. statement :

(1) There may be more than one

mode for the given data

Mode is the most frequent

observation of the given data

Median represents the middle

value of the distribution

arranged in either ascending or
descending order

Median is affected by extreme

values

G.v&m SosegR)  HdoPod.

(D 28 Soro¥S0ns g DES
TS ESwen wo&%JMﬂqu.

(2) SscoAoeST DENS g
RS o0 S )50 ®ond o3
TTVYEo woero

@ $Fen B w36mn giostn
S0t &g oD BN

s gu

.;MoanMU Ol & Qordo
3080 Borst gL

(2)

3

4)

B L
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g% Wemon FplOrwan =B |
£k Al wbﬁ\wkwlw w27
110. The + )

I mnmor%nbm of m.nsvoa is 129¢ Bw. @ Booklet Code @ ) .
breadth M“MHMHQG 24 m and ijtg The base of an isosceles triangle is : Part IV(d) : Methodology

Booklet Code @

m”—.wﬁ are wHu ﬁmum gmo

: thematics In his
: i . 5 i g in t i 118 eeds to rely on ma e oF
\ 3 : 2, then the breadth and height 12 cm and its perimeter is 32 ¢m, 115. Which .ma is used ..\.E teaching _..“unwm Stuations to collect the mmr.ur..nu
\ Aoy of the cuboid are (in met g then it J : geometrical concepts ? pepulation census, land measurements,
N\,w\ BERB5 T v BAm ers) : 0 1ts area is (in cm?) : (1) Geoboard natural resources etc. Thus, mathematics
B EY 2 N_.N.uuuouar.u..muo 1296 2% B3 v (2) Fractions disc has this value -
WA.UUOM.U( oUmmuo.an .IM CSoR Wﬁb@&hu w&gv .OP)VDM [ARPSEN] _lnMN.MumO |pu.r;bWN| (3) Abacus (D nwmvmgmﬂ.h AvN.—E'NH@
& SO 3:2 30538 o > = 2) Information value
S8R5 50 Tag,” wwucom%ﬁw@upmoum TD 12 Tod 00y weFes| (@) Pegboard ) &) Preparstory valoe
U\ AMUWG&&V 4 D =005 .Uxm 32 =0.8 S o do NJMU.,.M D.m.u Sd0 TS| (4) Cultural a.Nhﬁwm.., ) ‘ PO
1) 18, 27 . TV EFoge|  avaemod vogso a2 Sesgm $35 283208 Todoyed =TT
(2479, 6 (3. 00.0.05% WrEEr 55 2K 3
! e 2) D yo Sko
MWW Mq wum £ 0 - 3 .«.eJuwc S(ko
1p , i @ 4 @ DF 55
.‘Hrm.&.mmommﬁudz_wﬂ ath is 15 2] 48 . Q
cm? and the radj wnuv = 70 116. Which of the following is an
is 30 us ol the outer circle 3) 96 example for summative evaluation ? -
s cm, then the width of the ‘ (1) Project work 33 =
carcular path is (x = 3.14) (in cm) - 4). 40 4 o =3

- (2) Quarterly examination ﬂ = .u.uquh
Mvmmlwﬂua FARTY &.waCmUB ﬁmuo (3) Quiz : 118) ng

F.%00.D5 Ss8a5» o g Sy @.Hrm heights of two vertical poles

ethod is useful for
verification of prindples ?

Tg>do 30 o 5 % (4) Assignment () Inductive method
~*00 0. COWD TG . Q. . S 08 T3St Lo Ls =X (2) Symthetic method
o Sy (= 3.14) (50,5 o5h are 34'm and 10 m respectively. Iff  1° 2 A g
- : : E g WBTTORS0SS o0 82 4)  Acdvity based methed
(1) 0.2 the distance between their feet is ) SE2E 22 A BES et SAEnAT Dl aSTaEsD 3
- ) 78, . "[.rU(UM.HI R 2= RN =m0 s
e : 32 m, then the distance between| 2 WMWWL S s 248 Do
. 4) 0.1 3 ! : their tops is (in meters) : @) dr=%o Q) = = Hl.mn.m
@ If length of one diagonal of a | Bod Do) Howro Ieo Skim|117- Which of the following is not the MRSS SE S .
rhombus whose area is 2025 cm? is A L nature of mathematics ? 120 HMHMM:WUM Mm.(.r.. R
27 cm, then the length of the 34 2 00w 10 &. & Lozro sdhito Q) Hum:nn.?.m and deductive " im t.ﬂuwano wmwnunmauwmbﬁw? in which m=ep
second diagonal is (in cm) : 2o8g &rdo 32 D sowd =8 D reasoning (1) Recapitulation
= * [ 1 4 3 < -
2025 3.20.9p wmacmo B oronh R R (2) Abstraction (2) .,wﬂ»mmnEn standards that students
— ¢ 280 a5 27 =30.5% Trro g Erdo (.08%) (3) Accuracy should achieve
& ® 20 ¥e e (4) Discourse g praching learning material
®ONS ) Todd Sdo PED (1) 24 208 85 58 KIS Begms () Presentation and discussion
(20.2.06% 2 S o ~3TS0 3,20 BEokp SRR enosa &

Splabl]
(1) =850, ES =HL>E0
(@5) @%buammwo

3 3 D&mwo

TET-111-EM/TM

(1) 25 \_;ﬁgak\Vo.»\ (2) 32

@\ch \QQ/ hmww

(4) 100 @W/@@ = 4) 10
2

TET-111-EM/TM 2
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100.

101.:

129,

130.

131.

Identify the soil horizons from the

top layer to Uo»noa z

30 B 28 %03 208 s5%

SHdr Jo 880 HBoBos :

% A->R-SES5BoC
.Olv>lv~w|vwlv01vw

@) 05 A5 B

- C->E->SR
Hormone

responsible for the
secondary sexual characters in girls :
(1) Thyroxine
(2) Adrenaline
(3) Testosterone
(4) Estrogen
T O¥0s® H38ch Toh¥ o¥mre®
wuaﬂﬁum.m&m w\qnmmww
() Boedys
2) @308
3) Vo
PV\&.HOJMM
Which among the following i is NOT
an Oviparous ?
(1) Pigeon
(2) Eagle
(3) Sparrow
(4) Bat
(Bodzrss® vo&eyd50 5 =D
thBoSod.
() >HYo
Q) 88
3) HNE
Al ARNGTS

TET-111-EM/TM
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of the three
132. Identify the male part of a flowerL35- Identify the sequence

(1) Sepals
(2) Gynoecium
(3) Androecium
Ev Petals
DANSD HKa BHgENE D
HooSod.
ay BEE Bl
2) eg9&8%50
@\W\.QMQuO
@4 GEEE B
133. Chemical used to test the nmluo
hydrates in the food :
(1) Spirit
(2) Huogwm::d rudnouumo
(3) Iodine
(4) Copper sulphate
(TFoated vn.mac% 2od Sogrod
Do =B EJchdo
(D 208
2) &R oho =138
T TWrES
4 B8 BBH5
134. Identify the desert plant from the
following :
(1) Cactus
(2) Red Sandal Soon_
(3) Vallisneria
(4) Mangrove
(808 o8s* bﬂaa EELPXE
300&
(@3) .urq el T
3) 053005
@ Srord

137. According to

main layers present in the eye
from outer to inner : )

(1) Sclera, Retina, Choroid

(2) Sclera, Choroid, Retina

(3) Sclera, Cornea, Retina

(4) Choroid, Sclera, Retina
£083S° 2008 ol STHY BB
380m Ko Sxrds Sopg S B35
Dod KdoSod.

) c(.oao. 3800, EEBbv0
uufyu»u\mz&oq Bgsboo0, &r&bﬂco

3) ByEddo, muoP 355, www\wrﬂco
4) I5ds&oo, SyEs80, MP&&UGO

136. Which among the following is NOT

a non-renewable resource ?

(1) Air

(2) Water

(3) Sunlight

(4) Fossil Fuels

802 >8s° @UgmooﬁawU ST
[SpteTa

() ™d

Q) %

(€) <)) Ma..ww
FRore aodTe

this :

(1) Krauncha Dwipa
(2) Salmai Dwipa
(3) Saka Dwipa

(4) Jambu Dwipa

05 D88k S Erdto (Sxbo,

=L W.wnuoaw. ok
() §7oS &edo
Q2) Jod 390
va 3 MpuO
O&rDMUO

em.a-sw-gga

) wp ka travell
(@ 5 g o SR e

Dispur
this direction -
(1) West
(2) North
(3) South
East — -
%W o3 eimon &%r)5 Z0f
nu.n\Jo:wu EeYonoas MLuwo.ODu.anleu
@vh &3 Dwuw S (Bcrso Twod ;
(@)] n.uWQO
[€) P N-1-F-T-I
(GO .AJQVU
139. Consider the following : i
Place District
(i) Amrabad (A) Jayashankar
WTEﬁm__mmum,Ed
(i) Eleshwaram (B) Nagar
Kurnool

ancient Indian
cartographers, India is located in

(i) Pandavula-
gutta
(iv) Ghanpur (D) Nalgonda
Choose the correct match :
1) @OB), GOHO), GinHA), (Iv)HD)
2) @A), GDB), ANLC), G(v)D)
Q)  (MOD), GDAO), WDN(B), (iv){(A)
@) O-(B), (D), DA, (iv)LC)
& 8o =80 H22doFod -
=rossss

(C) Adilabad

=
D oEZ>E (A) =c%%0%5
) T S>> otd
@ 9BHBo  (B) =8B &S
() SodHho (C) saereng =
i~

D) 350
b%bJWvO.W
Ef& (iv){D)
@) DY, (0. 4O ()D)

..wwv\g.o.u; (i)-(Dy, (HD-(B), (A

@A), ()HC)
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101.

140. The sto ¢
. story of ‘Bhakt ¥
MS this Purana ”m ® ltannappa’ is
1) Periya Purana
(2) Brahma Purana
3) Shiva Mahapurana
mé Linga Purana
CN.\WMMUHUU 88 & Hormos® gos.
» &O&U M\Ulvqa.go
(@5) rﬁnuaw Yoo
.Auv BDLL* Hormo

) okl Homo
@?m Indian astronomer, who said
that the sun does not revolve

around the earth is :

(1) Brahmagupta

(2) Bhaskara

(3) Aryabhatta

(4) Varahamihira

Joethedy 2D Do 8GHdo BB

VIS 7880 it TR 9z

:u.reudaww& ¥
Xeb)

2) 223y,
&Qmﬁ&o

(4) SETDHISehs

ﬁ%tm government should provide

free and compulsory education for
children aged 6 to 14 year. If not
provided, the following right is
violated :
(1) Cultural and Educational rights
(2) Right to equality
(3) Right against exploitation
(4) Right to freedom
6 Soo0d 14 Joddyore  Sabdo)
DYoH mmn.uommmo DS JFyod
DBgE EOomd. &I D oINS,
(FrB0E uswuwenwa.o -CRCALCy RN
GQODOVILD
(1) 027 )8% dorg IBoE Ty
L JBTDEY) T
(3) D&y Um,vo% [ty I

(4). g S0(SD) )

TET-111-EM/TM 28
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143. The Indian National Army :ommg.._Mw After listening to the topic ‘Child
/s

the Indian flag here in March,
1944 : ’

(1) Agarthala

(2) Port Blair

(3) Kohima

(4) Itanagar

68 8o bidgo Zrey 194460
TE8cH Zomd asy & ST .
(D) shdo -

(2) 26Banb

[S¥-gat s

4) 28~386
@HTm woman who did not
the
~ Assembly of India :
(1) Lakshmi Sehgal
(2) Sarojini Naidu

represented Constituent

. Class-V students visited the place

(38) Anna Mascaren

(4) Dakshayani Velayudham
88 orrgol DSt (850
SITP0WA. Do

() 083 2THS

(2) H8°2D Trosnd

3) o7 37965

. orsrond Jercsndo

Part V(b) : Methodology

A primary

i > 2 class-V student is mEm to
MWWWW the child rights n_.mm.l% in his
own words. It aims at achievernent of
this academic standard : .
(1) Experiments, field observations
(2) Conceptual understanding
(3) Information skills, projects
(4) Questioning hypothesis
‘oreo Na.&w.nu. s FIod D)
dogd 28 55 S5K58 dcgd o0
oo HooD #5 Dgodk Irbods®
dyaor THHfhed eld & Uﬂum
(PSroS0S3 S oTobeE
&QRodwade. - .
MHNV\EJQ.G? 3|8 Do020dw

T DATEFITETS
3) I3rTEe. SP=rgen, (FTEE
HDloen
@) 19520, Hdoydon Bokod

where pots are made and they got
experience of the process of pot
making. This refers to the
following experience :

(1) Gustatory

(2) Auditory

(3) Kinesthetic

(4) Olfactory

58 S8 UDJMmuGu grod o

SASrSHIasn (BBFT) DoddjoD

O30 Hode SASrdD wHoFSo |

o8 oo, & $cS> (8o

VT IB0IH Do

(1) %o8*QZs5S

Mw\r«u\iu@&.w

.&cqmw

“4) Bredrogs

ET-111-EM/TM 29

Booklet Code @

teacher involved

children in 2 n»B_u.men in n._._m
village for nobmmﬁcnn._ob of ﬂmnmn
and they spend considerable anw
interacting with the villagers. This

approach : of

4(1) Improves social "~ skills
students

(2) Enhances the students
knowledge on sources of water

(3) Ensures the students that they
could relate the water

resources to water conservation
Breaks monotony in learning
and to provide contextual
learning environment
28 |SEE sSgrgcSuds e
DVogEn BToA3 dorgdieds
5058 MAUWM&UUAMU. dorghes
dnl08 Jwcho | TIopos (=8
Sdgen 2HDHEH W.Db%uﬂaw.ao, s
D0 TRF). B WWMMO :
() dorgdho TowE SP=rgose
DEHEDE b
@1 A8 350 %80 Qorgdon
Q) &3)8%BoSes
(3) A8 BHKen odSSo HS Lodss
Dggio UOUODJUV UQMmuﬂu

Uu o8 %s
BT III 0S5 DXSErDHE  (Mo-

rotony) Fofod Hoss)0s
CFZIS 1Ym0y 50y

4)
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